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602 +(=5) = 1D 4 (1) =

7 +(-5) = (-10)? — 7 =

(—8)° +(-1) = (~6)> —8 =

DV +10= (~7)% = (-7) =

(—6)* +2 = (=3)D 41 =

8 —(-9) = 20 4 5=

7NV —1= (9D +(-9) =

2% +8= 62+ (—7) =

8= (=7) = 52+7=

(=8) +10 = (—4)+10 =
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60+ ()= (30)= (4350 1V +(-1=0

7+ (-5 =44 (-10)2 =7 = 93

(-8’ +(-1) =63 (—6)2 —8 =28

D) +10=9 (=7)* = (=7) = 56

10 1

—6)* +2 = 3P +1="=1-
(—6)" +2 =38 (=3) 5~ 15

8 = (-9) =173 2 +5=6
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(=7) 1 (7) (17)
2 +8=12

8—(-7)=15

(—8)+10=2

~ 82 1
9V +(-9) = (5= (%)
6> +(=7) =29
52+7=732

(—4)+10=6
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